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Deelogxqj 914= Devruswlrqvvshnwuhq ghu Qd+K5R,q0Nrpsoh{h plw q @ 4�91 Glh yhuwlndoh

vfkzdu}h Olqlh jlew gdv Devruswlrqvpd{lpxp yrq q @ 6 dq1 Glh hqhujhwlvfkh Odjh ghv

Devruswlrqvpd{lpxpv yhuvfklhew vlfk iÿu nohlqh Foxvwhu plw q � 6 plw }xqhkphqghu Juù�h

}x qlhguljhuhq Hqhujlhq1 De q @ 8 lvw hlq Dqvwlhj ghu ßehujdqjvhqhujlh }x yhu}hlfkqhq1
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Deelogxqj 915= Devruswlrqvvshnwuhq ghv huvwhq hohnwurqlvfk dqjhuhjwhq ]xvwdqgv lq

Qd+K5R,q0Nrpsoh{hq plw q @ : � 451 Glh yhuwlndoh vfkzdu}h Olqlh jlew gdv Devruswl0

rqvpd{lpxp ghv Qd+K2R,�0Foxvwhuv dq1 Hv zlug hlqh Yhuvfklhexqj ghu ßehujdqjvhqhujlh

plw }xqhkphqghu Foxvwhujuù�h }x juù�huhq Zhuwhq ehredfkwhw1
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Deelogxqj 916= Phvvxqj ghu Devruswlrq yrq Qdwulxp0Zdvvhu0Foxvwhuq lq Dekçqjljnhlw

yrq ghu Odvhu xhq} ehl 43333 fp3�1 Dxv ghu ghq Ph�zhuwhq dqjhsd�whq Jhudgh zlug plw

ghp Odpehuw0Ehhuvfkhq Jhvhw} ghu devroxwh Devruswlrqvtxhuvfkqlww ehvwlppw1
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Deelogxqj 917= Dekçqjljnhlw ghv Ghsohwlrqvljqdov yrq ghu Yhu}ùjhuxqjv}hlw }zlvfkhq

Dquhjxqjv0 xqg Lrqlvdwlrqvodvhusxov1 Lp H{shulphqw zxughq 533 �v Yhu}ùjhuxqjv}hlw jh0

zçkow/ gd qdfk glhvhp ]hlwsxqnw nhlqh zhlwhuh Vljqdogh}lplhuxqj dxiwulww1
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Deelogxqj 918= Dxiwudjxqj ghu dgldedwlvfkhq xqg yhuwlndohq h[ $ hD ßehujdqjvhqhujlh lq

Dekçqjljnhlw yrq ghp lqyhuvhq Foxvwhuudglxv1 Glh Edonhq dq ghq Ph�sxqnwhq ghv yhuwlndohq

ßehujdqjv jhehq gdv Ihkohulqwhuydoo dq1 Ghu dgldedwlvfkh ßehujdqj nrqqwh yrq q @ 5 elv 43

ehvwlppw zhughq1 Glh Dquhjxqjvhqhujlh vlqnw iÿu nohlqh Foxvwhu yrp uhlqhq Qdwulxpdwrp

dxvjhkhqg udslgh de/ xqg vwhljw de q @ 7 ghxwolfk vlfkwedu zlhghu dq1 Ghu Zhuw iÿu glh

Ioÿvvljnhlw zxugh ghu Olwhudwxu hqwqrpphq +v1 Wh{w,1
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Deelogxqj 919= Yhujohlfk ghu 6y xqg 7y Rehuwrqdquhjxqj ghv Zdvvhuprohnÿov plw ghp

Devruswlrqvvshnwuxp ghv Foxvwhuv ghu Juù�h q@91 Lp Ehuhlfk ghu 6y Vfkzlqjxqj zlug

hlqh vwdunh Devruswlrq ghv Foxvwhuv yhu}hlfkqhw/ hlqh vwdunh qlfkwdgldedwlvfkh Nrssoxqj/ zlh

vlh lq Qd+QK�,?0Foxvwhuq plw q A 6 ehredfkwhw zlug/ lvw dxfk klhu ghqnedu/ ndqq dehu rkqh

Nhqqwqlv ghu Devruswlrqvedqghq ghu ghxwhulhuwhq Foxvwhu qlfkw hlqghxwlj }xjhrugqhw zhughq1

Glh Zhuwh ghu Rehuwrqdquhjxqj 6y xqg 7y vlqg hqwqrpphq dxv ^EVV33`1

���� ��� �
������������� �� 
��
������1 �	� ��* �	�� �	�����	�
��	
��� -�""����

�	������� ���� $	�� �	�����	�� ��������� ���� K����� ��� ����� �	��� B�����	��

��
 �

��"�	��

���� ��� ����2��?� �	� ��� ��� ���!2��?����
��� �����O�� ������ 

2��'���� �	���� ���� �	��� %�� $	�� ������� �

��"�	�� 	� 3���	�� ��
 8 �
�����




�	�	 �������������� ��
������ HA

��� (�����
���	����� �	�� �	��� 
��
������ 

4)� ���
��� �	� � � 	 ������ 
	�� �	� '��	��
 �

��"�	��
��+	��� 
�	 <6??? ��04

�� �	�� ������ �
 
	�� 
���� �� ��� #
������ 	� ��� �&��
� ������� ��������	
��

���������� ��
���� ������� !�� �� � 	� #
������ 	� ����	������ 	
� �"�	
��

%��
����1 �	�
� ����� �	�� K����� *)� ��� �� � ���#
������ 	� ���
��� �	� 
�	���

'���������� ����� �
��
���&��� D(��@C�E !	� �� � �� #
������
�����	� 	� ����	�

������ 
���&�� ;1< �B ��� �	� ��
 �� � 	� 	
� 71; �B D�	�H;E !	� 
"�����
��"	
���

.����
������ ��
 �����
����
 '�	��� �	�� 
����� �
����� ��� ��������
�����	� �	�

��� ����� *)� -��"��+� �	� � � � B����
��
��'� ��
 $����	��	%��� ��
 �����
����


�	��� �
��
� �	� ��� ���
�������� �
1 
� 	
� 
�	�� 3��
������� *)� -��"��+� �	�

� � � 	� ��� �	�� �����
������ ("������
���	�� ����	�� 

.� �	� �+"��	��������� $���
�	

� �	� ,����������	
���� ���������� %�����	�

���� '� ������1 ������ 	� *�������� �	� 3���	O� ��	�
��	
���� #
������ ��� %���	�

����� #
������ �	���*)��� ��
 ��	�
��	
���� #
������ �	�� 	� ��� 0����)�"�/
	� �	�

#
������ %�� �	��� ��������	
���� ��
���� ��� �	� ��� B	
���	��
�������� ��� � �

'� �	��� ��������	
�� ������� ���������� ��
���� � � �	� �� � � 
�'�	����� !�� ����


"�	��� ��� 4��"���� ��
 �

��"�	��

"������
1 %����
��
��'� �	� ���
��� 
�F����


	�� %�� ��� �������� 	� B	
���	��
'�
���� � � �� !	� >��"������ ��� �����
������

-��"��+� �	�� 	� B�����	�� �	� &���	���� ���
���,������ '� <A? 
	
 ;?? - �
��
��&�'�

D3��1 323??1 B��@@E $	� �/"	
���� =���� *)� 	�������������� ����2� ��� �2���2��

B	
���	���� 	� ���
��� 	
� <A? ��3� D0�@H1 (��CHE !	� ���
��� 
�F���� 
	�� ��
�

�	� ����� =���
���	��	����	� 	� �	��� B	
���	��
'�
���� � � � ���� ; ��*�����

��� #
���&��� %�� �� �	� ��� � � 
'� ; ���� ��� �	� �� � � �P��� 
���
R� ����


"�	��� ��� 4��"���� �	�� �	��� ����� ��� ��	�
��	
���� #
������1 �	�� K����� ��


���� �&������ ��

��
�� 	� *�������� 
����'� 

!�� %���	���� #
������ �	�� 	� *�������� ��� #
������ ������� �

��"�	�� 	�

("������ '��������� !�
�	 	
� '� 
�������1 ��� 
�	 �������� (�������	
������ 	�

0��������
����� 
	�� ��
 �+"��	������� 
�
�	���� �

��"�	��

"������ ��
 ��� (�"���

"�
	�	�� ��� �

��"�	��

���� ����� %����������� (�������	
����� '�
�����
��'� 



H6 ������� �	 
������
����

�� �����

������ ��
 ����
����


�� *�������� ��� !�����������
���� ����������

- ��
�	���� 
��������� �)�'�	�� �	� �������	� ��� ����2��q����
��� �	� � � �� �

�	� ��� ��������4��� 0������ !����* 
�
	����� �	�� �	� %���	���� #
������
�����	�
�� � �� *)� �	�� �������� �	� �	��� :����� 
�
�	��� D��
E !	� ����� ����������

'�� �������	� ��� -��"��+� 
	�� �����)
�� ��� *�)����� ���������� �	� ��*�����	�

������ 3�
	

&�'�� �������*)��� ������ D�0@8E $	� B�����	�� ��� ���������� �	�

��� �+"��	��������� !���� �	�� 	� *�������� ����
�� 

!	� �+"��	�������� ��� �������	
��� #
������
�����	� 	
� 	� �

	����� 6 H ��*�

�������� (	� ����� *)� %��
��	����� �������	�� 
�������� .� �	� �����	���	� ���

0 2 4 6 8
0,5

1,0

1,5

2,0

E
 / 

eV

Anzahl der H2O Moleküle

 

 

 2+ S
 3+ S
 4+ S
 4+ I
 Exp.

Deelogxqj 91:= Yhujohlfk ghu h{shulphqwhooh ehvwlppwhq ßehujdqjvhqhujlh plw Uhfkqxq0

jhq yrq Kdvklprwr xqg Plwduehlwhuq1 Glh Uhfkqxqjhq zxughq iÿu yhuvfklhghqh Jhrphwulhq

gxufkjhiÿkuw1 Hv zlug }zlvfkhq �Lqwhulru� +L, xqg �Vxuidfh� Nrpsoh{hq +V, xqwhuvfklhghq>

glhvh Eh}hlfkqxqj eh}lhkw vlfk dxi glh Srvlwlrq ghv Qdwulxpdwrpv lp Foxvwhu1 Glh ]dkohq

5./ 6. xqg 7. jhehq glh Dq}dko ghu Zdvvhuprohnÿoh lq ghu huvwhq Vroydwvfkdoh dq1
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Deelogxqj 91;= Gduvwhooxqj ghv jhphvvhqhq Devruswlrqvvshnwuxpv xqg ghu ehuhfkqhwhq

Vwuxnwxulvrphuh ghv Qd+K2R,20 xqg Qd+K2R,�0Nrpsoh{hv1 Glh ehuhfkqhwh ßehujdqjvhqhujlh

ghu Lvrphuh lvw lq ghq Devruswlrqvvshnwuhq dov Olqlh hlqjh}hlfkqhw1 Glh devroxwh Elqgxqjv0

hqhujlh ghu Foxvwhu lvw lq Nodpphuq dqjhehq1 Glh Vwuxnwxulvrphuh zxughq yrq Kdvklprwr

hw do1 ehuhfkqhw1 Gdv Devruswlrqvvshnwuxp ghv q @ 5 Nrpsoh{hv oçxiw lq ghu uhfkwhq Iodqnh

lp Yhujohlfk }x ghq Vshnwuhq ghu dqghuhq Foxvwhujuù�hq vhku  dfk dxv/ glhv ghxwhw dxi glh

Suçvhq} ehlghu Vwuxnwxulvrphuh lp Prohnxoduvwudko klq1 Iÿu Foxvwhu ghu Juù�h q @ 6 xqwhu0

vfkhlghw vlfk glh ßehujdqjvhqhujlh ghu Vwuxnwxulvrphuh ndxp/ vr gd� nhlqh Dxvvdjh eh}ÿjolfk

lkuhv Yrunrpphqv jhwur�hq zhughq ndqq1
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Deelogxqj 91<= Gduvwhooxqj ghv jhphvvhqhq Devruswlrqvvshnwuxpv xqg ghu ehuhfkqhwhq

Vwuxnwxulvrphuh ghu Qd+K2R,e0 xqg Qd+K2R,S0Foxvwhu1 Glh ehuhfkqhwh ßehujdqjvhqhujlh

ghu Lvrphuh lvw lq ghp Devruswlrqvvshnwuxp dov Olqlh hlqjh}hlfkqhw1 Glh devroxwh Elqgxqjv0

hqhujlh ghu Foxvwhu lvw lq Nodpphuq dqjhehq1 Dxv ghq euhlwhq xqvwuxnwxulhuwhq Devruswl0

rqvvshnwuhq ndqq nhlqh Dxvvdjh ÿehu glh Dq}dko ghu Lvrphuh lp Vwudko jhwur�hq zhughq1
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Deelogxqj 9143= Nrqwxudeelogxqj ghu Hohnwurqhqglfkwh ghv Ydohq}hohnwurqv lq Ol+K2R,q0

Nrpsoh{hq plw q @ 5> 7> 9 xqg ;1 Gdv Olwklxpdwrp lvw gxufk glh Idueh rudqjh/ Vdxhuvwr�0

xqg Zdvvhuvwr�dwrph vlqg gxufk glh Iduehq urw xqg zhlvv gdujhvwhoow1 Glh Hohnwurqhqglfkwh

dxi ghu eodx gdujhvwhoowhq Ioçfkh hqwvsulfkw 31334 h2Erku xqg zxugh yrq Kdvklprwr hw do1

ehuhfkqhw ^KN<;`1
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Deelogxqj 9144= Yhujohlfk ghu yhuwlndohq h[ $ hD ßehujdqjhqhujlh lq Qd+K2R,?0

Nrpsoh{hq +glhvh Duehlw, xqg qhjdwly jhodghqhqZdvvhufoxvwhuq ^DM<:`1 Iÿu glh Plvfkfoxvwhu

ghu Juù�h q � 8 vwhljw glh ßehujdqjvhqhujlh plw ghu Juù�h dq1
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Deelogxqj 9145= Yhujohlfk ghv Lrqlvdwlrqvsrwhqwldov xqg ghu Dquhjxqjvhqhujlh ghu

Qd+K2R,?0 xqg Qd+QK�,?0Foxvwhu1 Glh Dquhjxqjvhqhujlh ghu Qd+K2R,? zxugh lp Udk0

phq glhvhu Duehlw ehvwlppw1 Glh gxufkjh}rjhqhq Olqlhq zxughq plw Kloih hlqhv lq Ndslwho

8 ehvfkulhehqhq Prghoosrwhqwldov ehvwlppw1 Glh Sihloh nhqq}hlfkqhq glh Dxvwulwwvduehlw xqg

glh Devruswlrqhqhujlh jhoùvwhu Hohnwurqhq lq ghu Ioÿvvljnhlw1 Rezrko hv vlfk ehl ehlghq V|0

vwhphq xp glh Vroydwdwlrq yrq Qdwulxp lq hlqhp sroduhq Oùvxqjvplwwho kdqghow/ }hljhq glh

Nrpsoh{h xqwhuvfklhgolfkh vshnwurvnrslvfkh Hljhqvfkdiwhq1
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Deelogxqj 9146= Yhujohlfk ghu Devruswlrqvvshnwuhq ghu Qd+K2R,q0Nrpsoh{h/ gdujhvwhoow

gxufk glh Ph�sxqnwh xqg hlqh dqjhsd�wh Ixqnwlrq/ xqg ghu Qd+QK�,q0Foxvwhu +qxu glh

gxufkjh}rjhqh Olqlh, ^EKV<;`= Glh Devruswlrqvvshnwuhq ghu Qdwulxp0Zdvvhu0Nrpsoh{h vlqg

vshnwudo euhlwhu xqg ghu Devruswlrqvtxhuvfkqlww lp Pd{lpxp lvw fd1 xp hlqhq Idnwru yrq

guhl jhulqjhu dov lq Qdwulxp0Dpprqldn0Foxvwhuq1
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